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Guaranteed! 1.|2016/12 New 400-151 Exam Dumps (PDF & VCE) 122Q&As Download:

http://www.braindump2go.com/400-151.html 2.|2016/12 New 400-151 Exam Questions & Answers:

https://1drv.ms/f/s!AvI7wzKf6QBjgTGwhbcWvLDn5gQS QUESTION 41Refer to the exhibit. Which option describes when this

server reboots? A.    When the vnic/vhba placement is changedB.    When the user acknowledges the rebootC.    Immediately after

the next changeD.    When the schedule is set to occur. Answer: A QUESTION 42You want to make 80 Gbps of bandwidth

available to your Redhat Servers. Which two statements are true? (Choose 2) A.    Install 2204 IOMs, VIC1240 CNAs, fabric

Extenders, and create four vNICs mapped to each fabric.B.    Install 2208 IOMs, VIC1280 CNAs, fabric Extenders, and create four

vNICs mapped to each fabric.C.    Install 2208 IOMs, VIC1280 CNAs, fabric Extenders, and create eight vNICs mapped to each

fabric.D.    Install 2204 IOMs, VIC1280 CNAs, fabric Extenders, and create four vNICs mapped to each fabric.E.    Install 2204

IOMs, VIC1280 CNAs, and create four vNICs mapped to each fabric. F.    Install 2204 IOMs, VIC1240 CNAs, and create four

vNICs mapped to each fabric. Answer: CF QUESTION 43Refer to the exhibit. Which two options are possible reasons for device

being stuck in "init" mode? (Choose 2) A.    Incorrect VM is selectedB.    Incorrect "Function type" is selected.C.    No "Chassis" is

selected.D.    "Http service enable" is not configured on the ASAE.    Incorrect credentials are provided.F.    No management

interface is specified in "cluster interfaces" section Answer: DE QUESTION 44Refer to the exhibit. After you upgrade Cisco UCS

firmware, some of your blades have these eror messages. Which description of the problem is true? A.    Storage provisioning is not

configuredB.    vNIC template must be converted to updating.C.    Some components are deprecated.D.    Service profile requires as

connectivity policy. Answer: D QUESTION 45After VTEP devices are established BGP neighbor adjacencies with other VTEPs or

with internal BGP route reflector, which three pieces of information are exchanged through BGP? (Choose 3) A.    Layer 3 VNIB.   

VPNv4 prefixesC.    Router MAC addressD.    VTEP peer listE.    VTEP address Answer: ACE QUESTION 46Which three

statements about IP source guard are true? (Choose 3) A.    IP source Guard is dependent upon DHCP snooping to build and

maintain the IP-MAC-Address binding table or upon manual maintenance of static IP-source entries.B.    IP source guard requires

that CHCP snooping is disabled.C.    By default, IP source guard is enabled on all interfaces.D.    IP source guard limits IP traffic on

an interface to only those sources that have an IP=MAC address binding table entry or static IP source entry.E.    When you first

enable IP source guard on an interface, you may experience disruption in IP traffic until the hosts on the interface receive an new IP

address from a DHCP server. Answer: ADE QUESTION 47Which three PVLAN port models are supported on Cisco necus 9000?

(Choose 3) A.    Isolated hostB.    FEX portC.    Port ChannelsD.    Isolated host trunkE.    Virtual port channelsF.    Community host

Answer: ADF QUESTION 48Which two statements about policing, queuing, and scheduling are true? (Choose 2) A.    You can

schedule traffic by imposing a maximum data rate on a class of traffic so that excess packets are dropped.B.    Policing is the

monitoring of data rates for a particular class of traffic. The device can also monitor associated burst sizes.C.    You can apply

weighted random early detection to a class of traffic, which allows packets to be dropped to be dropped based on the CoS field.D.   

The WRED algorithm is reactive approach only to traffic congestion. Answer: BC QUESTION 49Which three main functions are

provided by OTC to achieve failure isolation? (Choose 3) A.    ARP optimizationB.    Use of multiple ORC overlaysC.    Unknown

unicast traffic suppressionD.    Spanning tree isolationE.    Optimal outbound routing Answer: ACD QUESTION 50Refer to the

exhibit. Within an ACI fabric, routing protocol is need to assist with router redistribution between the outside networks and the

internal fabric. Which routing protocol is needed to run in the fabric at location 1 to allow the VM access to the networks advertised

by the external layer 3 network? A.    MP-BGPB.    EBGPC.    iBGPD.    OSPFE.    IS-IS Answer: A   !!!RECOMMEND!!! 
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